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Quiz 2 ANSWERS
Name: Student Number: Section:
AHMED M. EL-SHERBEENY, PHD 4 S/M8/M10

PART — | (8 points; 2 points each)
Read the following gages and write the values in the provided box.
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=1*5mm = 5.00mm
+2+«1mm=2.00mm

g-asmm 70'01":71 + 1% 0.5mm = 0.50 mm
o stefanelli ng.br +27 % 0.01 mm = 0.27 mm
=7.77mm
Q4. ANSWER: |_7- 77 mimn
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PART — 1l (2 points)
Label the following gage properly at the letters shown.

Screw-thread micrometer

a) What is the name of the gage shown below?[1 point]

b) Label the following gage properly at the letters shown. [5-point each]

A. Anvil

B. Spindle

S tOf C.Sleeve (mm) D. Ratchet

Stop

LA
n.r
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Quiz 2 ANSWERS
Name: Student Number: Section:
AHMED M. EL-SHERBEENY, PHD 4 S/M8/M10

PART — | (8 points; 2 points each)
Read the following gages and write the values in the provided box.

1. Find the distance between the two vertical lines on the right.
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=1x1lin =2x1lin =29in—13in
+3% 0.1in +9+0.1in =1.6in
=13in =29in
1.6in
Q1. ANSWER:

El-Sherbeeny, PhD Feb 24, 2014 IE 352 (01,02,03) - Spring 2014 Quiz 2 ANSWERS  Page- 1



10
M e e e

prof Stefanells

www.stefanelly eng br ‘0 ‘ ‘1 ‘ ‘2 ‘ ‘3 ‘

l

=4 %10 mm = 40.00 mm
+ 5%« 1mm =500mm

+ 28 *0.01 mm = 0.28 mm
=45.28 mm
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—

45.28 mm

Q2. ANSWER:
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Q3. ANSWER: | 0-789n
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=3 *5mm = 15.000 mm
0-25mm R + 4+ 1mm = 4.000 mm
e e + 1% 0.5 mm = 0.500 mm

+ 37 0.0l mm = 0.370 mm
+ 5% 0.001 mm = 0.005 mm
=19.875 mm

19.875 mni

Q4. ANSWER:
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PART — 1l (2 points)
Label the following gage properly at the letters shown.

Universal Bevel
a) What is the name of the gage shown below?[1 point] |_Protractor

b) Label the following gage properly at the letters shown. [0.5 —point each]

A. Main Scale (protractor
dial): degrees

B. Vernier Scale
(5 minute
accuracy)
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Quiz 2 ANSWERS
Name: Student Number: Section:
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PART — | (8 points; 2 points each)
Read the following gages and write the values in the provided box.
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1 2 2
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=12+« 10mm = 120.00 mm
+0x1mm=0
+ 25 %0.01 mm = 0.25mm
=120.25 mm

120.25 mm

Q2. ANSWER:
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Q3. ANSWER: 0.7654 in
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=3 *x5mm = 15.000 mm
+1+«1mm = 1.000 mm

rJI:-'r"?t::ﬂlgr:luarn:l::rJ. Sof:f:r::: + 1+ 05 mm = 0500 mm
www.stefanelli.eng.br + 5 * 001 mm = 0050 mm
+ 5% 0.001 mm = 0.005 mm
= 16.555mm
Q4. ANSWER; |__16-555 mm
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PART — 1l (2 points)
Label the following gage properly at the letters shown.

a) What is the name of the gage shown below?[1 point]

Dial Caliver

b) Label the following gage properly at the letters shown. [i —point each]

A. Dial Scale

' . B. Main Scale

C. Jaws (outer
dimensions)
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